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à. 1)	 Imbrb CnàíZ gmoS>dm. 												            (5 JwU)	
			   1) 	 ∆ATM ∼ ∆PQR Va

				  
AT

 = 
QR

			   2)	 i)  sin A
cos A

  =    	 ii) cos (90 - θ)  =   

			   3)	 XmoZ g‘m§Va aofm§Zm EH$m N>o{XHo$Zo N>oXbo AgVm V¶ma hmoUmao g§JV H$moZ  AgVmV Am{U 

Am§VaH$moZ  AgVmV.

			   4)	 i)  X AjmMo g‘rH$aU 			 

				    ii)  Y Ajmbm g‘m§Va Am{U q~Xÿ (5, 0 ) ‘YyZ OmUmè¶m aofoMo g‘rH$aU 

			   5)	 ""Am¶VmMo H$U© EH$ê$n AgVmV.'' ¶m {dYmZmÀ¶m {gX²YVogmR>r AmH¥$Vr H$mT>m d Ë¶mdê$Z nj {bhm.

à. 2)	 Imbrb CnàíZ gmoS>dm. 													             (10 JwU)

			   1)	 gmo~VÀ¶m AmH¥$Vr‘Ü¶o, aofm l || aofm m AgyZ 

				    aofm t hr N>o{XH$m Amho. 

				    Oa ∠p = 75° Va ∠a, ∠b, ∠c d ∠d ¶m§À¶m 

				    {H$‘Vr H$mT>m.
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goVy Aä¶mg : J{UV (^mJ - II)  - B¶ËVm Xhmdr : nyd© MmMUr 

B¶ËVm	 : Xhmdr	 EHy$U JwU : 
15

{dXçmÏ¶m©Mo  Zmd : ................................................................................	hOoar H«$. : ....................

emioMo Zmd : .........................................................................................	{XZm§H$ :  ......................
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			   2)	 ∆XYZ ‘Ü¶o, ∠Y = 90°, YZ = 7, 

				    XZ = 25 Va sinX Am{U tanZ Mr qH$‘V H$mT>m.

			   3)	

			   4)	 EH$m YmVyÀ¶m JmoiçmMr {ÌÁ¶m 2.1 go‘r Amho, Va Ë¶m JmoiçmMo KZ’$i H$mT>m. (π = 
22
7 )

			   5)	 ""dVw©imÀ¶m H|$Ðq~XÿVyZ Ordoda H$mT>bobm b§~ Ordog Xþ^mJVmo'' ho {gX²Y 
H$aÊ¶mgmR>r AmH¥$Vr, nj d gmÜ¶ {Xbobo Amho, Va {gX²YVm {bhm.

				    nj : O H|$Ðq~Xÿ Agboë¶m dVw©imV aoI LM hr Ordm Amho.

							      aoI OP ⊥ Ordm LM

					    gmÜ¶ : aoI LP ≅ aoI MP
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∆ PQR 
Amho.

‘mÂ¶m H$mhr KQ>H$m§Mr ‘mno 
QR = 5.4 go‘r
PQ = 3.5 go‘r

m ∠ PQR = 65° Amho.
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